SUBTRACTION Battleship -3 Name

Find three “battleships” where the
P [BATTLESH'P]

e
-

numbers are arranged where the
answers are consecutive same totals
numbers (e.g.8, 8, 8, 8). There is a
three-number ship, a four- number
ship, and a five-number ship. Place
a circle around each ship.

14 | 12 10 | 16 o | 13 16
=7 -9 | -2 | -7 | -9 |-12]_-28
15 10 8 18 25 35 10
10| -8 | -1|-8|-158]-25] -0
6 15 17 25 8 14 13
-3 -10 | -9 | -4 ]| -1 | -11 | -12
18 30 26 11 26 15 8
-18 | - 20 | -18 -9 -8 | -10 | -1
7 5 12 9 22 | 18| 40
-2 -4 |-4)| -1 | -18 | -7 | -40
15 6 28 32 15 14 13
-10| -2 | - 20| -10 | - 15 | .2 | -12
19 15 32 5 10 22 14
-14 | -10 | - 24 | -3 -1 -3 -7
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